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\documentclass{prove}

\subject{}

\examclass{}

\date{}

\usepackage{pgfplots}

\begin{document}

\newcommand{\regnestav}{

  \begin{tikzpicture}

    \foreach \y in {1,2,3,4,5,6,7,8,9,10,20,30,40,50,60,70,80,90,100}{

      \draw[shift={(0,{10*log10(\y)})},color=black,line width=1pt] (-5mm,0mm) -- (0mm,0mm) node[left,shift={(-0.5,0)}] {\footnotesize \(\y\)};

      \draw[shift={(1,{10*log10(\y)})},color=black,line width=1pt] (0mm,0mm) -- (5mm,0mm) node[shift={(0.5,0)}] {\footnotesize \(\y\)};

    }

    \foreach \dy in {1.1, 1.2, 1.3, 1.4, 1.6, 1.7, 1.8, 1.9, 2.1, 2.2, 2.3, 2.4, 2.6, 2.7, 2.8, 2.9, 3.1, 3.2, 3.3, 3.4, 3.6, 3.7, 3.8, 3.9, 4.1, 4.2, 4.3, 4.4, 4.6, 4.7, 4.8, 4.9, 5.2, 5.4, 5.6, 5.8, 6.2, 6.4, 6.6, 6.8, 7.2, 7.4, 7.6, 7.8, 8.2, 8.4, 8.6, 8.8, 9.2, 9.4, 9.6, 9.8}{

      \draw[shift={(0,{10*log10(\dy)})},color=black] (-3mm,0mm) -- (0mm,0mm);

      \draw[shift={(0,{10+10*log10(\dy)})},color=black] (-3mm,0mm) -- (0mm,0mm);

      \draw[shift={(1,{10*log10(\dy)})},color=black] (0mm,0mm) -- (3mm,0mm);

      \draw[shift={(1,{10+10*log10(\dy)})},color=black] (0mm,0mm) -- (3mm,0mm);

    }

    \foreach \dy in {1.5, 2.5, 3.5, 4.5}{

      \draw[shift={(0,{10*log10(\dy)})},color=black] (-4mm,0mm) -- (0mm,0mm);

      \draw[shift={(0,{10+10*log10(\dy)})},color=black] (-4mm,0mm) -- (0mm,0mm);

      \draw[shift={(1,{10*log10(\dy)})},color=black] (0mm,0mm) -- (4mm,0mm);

      \draw[shift={(1,{10+10*log10(\dy)})},color=black] (0mm,0mm) -- (4mm,0mm);      

    }

    \draw[line width=2pt] (-1.75,-0.5) rectangle (0,20.5);

    \draw[line width=2pt] (1,-0.5) rectangle (2.75,20.5);

  \end{tikzpicture}

}
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\end{document}



